SBC U=7L—l

SBI - SL# / SBI - SLL#

|
)

® 4-MxDP w 2-Q1 N1 L
B L1 N2 4-Q2x
| ‘ ; —
JI SRR cem—o
& & LT' "‘j h
oo o e—s ’
/ i )/
: RN
& W2 W1 G F
i LO
BA{7 C mm BA{T D mm
HBII~HE JOvo~tE L—ILti& BEAEREE | BT AU £
BE i W 3 e B9 e P S el a2 [ - VIV : RN G RART| ENEME |BRES [KN-m] Jvas| Lb—Ib
B J M | DP d D h LO [C(KN)|Co(KN) Mro | Mpo | Myo | [ke] |[Ke/m]
SBI15SLS| 28 | 34 |568| 3 26 | 26 | M4 5 |32 10 | 25 | 85| 55| 7.8 | 3.8 [MX07|$3.5 15 9.5 18 60 4.5 7.5 S5 20 |3,000| 12.3 | 183 | 0.13 | 0.08 | 0.08 | 0.19 1.3
SBI15SL | 28 | 34 638 | 3 26 | 26 | M4 5 |452| 10 | 25 | 85| 55| 7.8 | 3.8 [Mx07 |$3.5 15 9.5 13 60 4.5 7.5 515 20 [3,000| 141 | 241 | 0.16 | 0.17 | 0.17 | 023 | 1.3
SBI15SLL| 28 | 34 |794| 3 26 | 34 | M4 5 /608 10 | 25 | 85| 55| 7.8 | 3.8 [Mx07 | 3.5 15 9.5 13 60 4.5 7.5 515 20 [4,000| 17.1 | 31.7 | 0.21 | 0.29 | 0.29 | 0.31 1.3
SBI20SLS| 30 | 44 |738| 46 | 32 | 36 | M5 5 |518| 10 |254| 6 12 | 58 5 [M6x0.75| 3.5 20 12 165 | 60 6 9.5 8.5 20 |4,000| 20.2 | 29.1 | 0.29 | 0.18 | 0.18 | 0.33 | 2.2
SBI20SL | 30 | 44 |788| 46 | 32 | 36 | M5 5 |56.8| 10 |[254| 6 12 | 58| 5 |Mex0.75/$3.5 20 12 16.5| 60 6 9.5 8.5 20 |4,000| 222 | 382 | 036 | 033 | 033|036 | 22
SBI20SLL| 30 | 44 |94 | 46 | 32 | 50 | M5 5 |744) 10 |254| 6 12 | 58 5 |M6X0.75| ©3.5 20 12 16.5| 60 6 9.5 8.5 20 14,000 279 | 50 | 047 | 056 | 056 | 047 | 22
SBI25SLS| 40 | 48 | 83 | 55| 35 | 35 | M6 8 61 16 |345| 10 | 12 9 5 |M6X0.75| 3.5 23 | 125 20 60 7 11 9 20 [4,000| 289 | 42.8 | 0.49 | 0.32 | 0.32 | 058 3
SBI25SL | 40 | 48 | 92 | 55| 35 | 35 | M6 8 70 16 |345| 10 | 12 9 5 |M6X0.75| 3.5 23 125 20 60 7 11 9 20 |4,000| 31.5 | 52.1 | 0.56 | 0.56 | 0.56 | 0.68 S
SBI25SLL| 40 | 48 | 108 | 55| 35 | 50 | M6 8 86 | 16 |34.5| 10 | 12 9 5 |M6X0.75| 3.5 23 | 125 20 60 7 11 9 20 |4,000| 36.7 | 64.4 | 0.69 | 0.84 | 0.84 | 0.82 3
SBI3OSLS| 45 | 60 | 968| 7 40 | 40 | M8 | 10 |688| 12 | 38 |11.5| 12 |10.8| 5 [MBX0.75|d5.7 28 16 23 80 9 14 12 20 |4,000| 392 | 57.7 | 0.80 | 049 | 049 | 092 | 4.25
SBI3OSL | 45 | 60 [1076| 7 40 | 40 | M8 | 10 |796| 12 | 38 |11.5| 12 |10.8| 5 [MBX0.75|d5.7 28 16 23 80 9 14 12 20 |4,000| 428 | 654 | 085 | 0.77 | 0.77 | 1.06 | 4.25
SBI3OSLL| 45 | 60 [1316| 7 40 | 60 | M8 | 10 [1036| 12 | 38 |11.5| 12 |10.8| 5 [MBX0.75|d5.7 28 16 23 80 9 14 12 20 |4,000| 51.3 | 84.7 | 110 | 1.3 1.3 | 1.83 | 4.25
SBI35SLS| 55 | 70 |[1082| 8 50 | 50 | M8 | 10 | 782 | 15 | 47 15 | 12 | 15 6 |M6X0.75| ®5.7 34 18 26 80 9 14 12 20 |4,000| 520 | 733 | 1.24 | 0.71 | 0.71 | 1.48 | 6.02
SBI35SL | 55 | 70 |1246| 75| 50 | 50 | M8 | 10 |946| 15 [475| 15| 12 | 15 6 |M6x0.75| 5.7 34 18 26 80 9 14 12 20 |4,000| 595 | 89.1 | 142 | 128 | 1.28 | 2.34 | 6.02
SBI35SLL| 55 | 70 (1526 7.5 | 50 | 72 | M8 | 10 |1226| 15 |475| 15 | 12 | 15 6 |M6x0.75| 5.7 34 18 26 80 9 14 12 20 |4,000| 71.3 |1153| 183 | 212 | 212 | 3.30 | 6.02
SBI45SL | 70 | 86 | 142 9 60 | 60 |M10| 13 | 108 | 17 | 61 [ 20.5/13.5|19.3| 6.5 |[PT1/8|$5.7 45 | 20.5 32 105 14 20 17 | 22,5 [4,000| 79.2 |[116.3| 248 | 1.9 1.9 | 423 | 9.77
SBI45SLL| 70 | 86 | 174 9 60 | 80 |[M10| 13 | 140 | 17 | 61 | 20.5/13.5/19.3| 6.5 |PT1/8|$5.7 45 | 20.5 32 105 14 20 17 | 22,5 [4,000| 94.8 |150.5| 3.21 | 3.14 | 3.14 | 469 | 9.77
SBI5S5SL | 80 (100 (1724 12 | 75 | 75 |[M12| 18 | 131 | 21 68 | 22 | 13 | 22 8 |PT1/8| 8.7 8 | 2856 38 120 16 23 20 30 |4,000|127.3|181.8| 4.81 | 297 | 297 | 5.04 |13.72
SBI55SLL| 80 (100 (211.8| 12 | 75 | 95 |[M12| 18 [170.4| 21 68 | 22 | 13 | 22 8 |PT1/8|98.7 530 (F23!5 38 120 16 23 20 30 |4,000|147.9|2245| 595 | 4.78 | 4.78 | 5.82 |13.72
SBIG5SL | 90 (126 |2198| 19 | 76 | 70 |M16| 16 [170.4| 26 | 71 14 | 13 | 14 | 10 |PT1/8|98.7 63 | 31.5 53 150 18 26 22 35 |4,000(188.3|261.7| 824 | 557 | 5657 | 91 |23.17
SBIG5SLL| 90 | 126 (2722 19 | 76 | 120 | M16| 16 [222.8]| 26 | 71 14 | 13 | 14 | 10 |PT1/8|98.7 63 | 31.5 53 150 18 26 22 35 |4,000(232.5|354.1|{11.15| 9.86 | 9.86 [11.98|23.17

¥ Q2 AEZyTILBA+ URTY.

51 | 52



